NEW IDENTITIES FOR STIRLING NUMBERS VIA RIORDAN ARRAYS

GI-SANG CHEON*, MOAWWAD E. A. EL-MIKKAWY**
AND HAN-GUK SEOL***

ABSTRACT. In this paper we establish some new identities involving Stirling numbers of both kinds. These identities are obtained via Riodan arrays with a variable x. Some well-known identities are obtained as special cases of the new identities for the specific number x.

1. Introduction

We begin with some definitions and results. These results play a central role in the present work because of their convenient properties. The notations are also reproduced for those who are not familiar with it.

In terms of the falling factorial $(t)_n$ defined by

$$(t)_0 = 1$$
 and $(t)_n = \prod_{r=1}^n (t-r+1), n \ge 1,$

we define the *Stirling numbers* [3]-[6], [9] of the first kind s(n,k) and of the second kind S(n,k) by:

$$(t)_n = \sum_{k=0}^n s(n,k)t^k$$
 and $t^n = \sum_{k=0}^n S(n,k)(t)_k$,

where $n \ge 0$, $s(n,0) = \delta_{n0}$, $S(n,0) = \delta_{n0}$, δ_{nk} being the Kronecker delta. It is known that [3]-[6], [9] the Stirling numbers satisfy the recurrence relations:

(1)
$$S(n,k) = S(n-1,k-1) + kS(n-1,k).$$

Received by the editors September 26, 2006 and, in revised form, October 31, 2006.

^{*}Corresponding author.

²⁰⁰⁰ Mathematics Subject Classification. 11B73.

Key words and phrases. Riordan arrays, Stirling numbers.

^{*}This paper is partially supported by BK21 project.

If $F = (f_0, f_1, f_2, ...) = (f_k)_{k \geq 0}$ is a sequence of real numbers, then the function f(t) defined on an interval containing zero with value at t given by the formal power series $f(t) = \sum_{k=0}^{\infty} f_k t^k$ is called the (ordinary) generating function of the sequence $(f_k)_{k>0}$. In this case we write $f_k = [t^k]f(t)$, where $[t^k]$ is the coefficient operator.

A Riordan array [7] is an infinite lower triangular matrix defined by a couple of formal power series $D = (d_{n,k})_{n,k>0} = (d(t),h(t)), \ d(0) \neq 0$ according to the rule:

$$d_{n,k} = [t^n]d(t)(th(t))^k.$$

If $h(0) \neq 0$ as well, the Riordan array is called *proper*. In this case $d_{n,n} = d(0)(h(0))^n \neq 0$ for all $n \geq 0$. Therefore any proper Riordan array has a multiplicative inverse. A common example of a Riordan array is the infinite Pascal matrix P for which we have $P = \left(\frac{1}{1-t}, \frac{1}{1-t}\right)$. It is known [7] that the set of all proper Riordan arrays forms a group with the identity I = (1,1) under matrix multiplication *:

(2)
$$(d(t), h(t)) * (g(t), \ell(t)) = (d(t)g(th(t)), h(t)\ell(th(t)).$$

The following *summation property* is very useful to get new identity by using the concept of Riordan arrays:

Theorem 1.1 ([8]). Let $D = (d(t), h(t)) = (d_{n,k})_{n,k\geq 0}$ be a Riordan array and let f(t) be the generating function of a sequence $(f_k)_{k\geq 0}$. Then we have

(3)
$$\sum_{k=0}^{n} d_{n,k} f_k = [t^n] d(t) f(th(t)).$$

As pointed out by Sprugnoli [8], the connection between Riordan arrays and Stirling numbers is not immediate. Therefore the main objective of the present paper is to establish new identities involving Stirling numbers via Riordan arrays. This paper is organized as follows. In section 2 the main results are given and further identities are given in section 3. A conclusion is given in section 4.

2. RIORDAN ARRAYS WITH A VARIABLE AND RELATED IDENTITIES

The $n \times n$ Pascal matrix $P_n = [\binom{n}{k}]_{n,k \geq 0}$ has been generalized by $P_n[x] = [\binom{n}{k}x^{n-k}]$ for any nonzero real number x. This generalization leads to interesting combinatorial properties and identities (see [1], [10]). For example,

$$(4) P_n(x)P_n(y) = P_n(x+y).$$

Motivated by this idea, we first introduce one of the generalization of the Riordan array in a variable. Then we establish interesting identities by the summation property of the Riordan array.

Let $D=(d(t),\,h(t))$ be a Riordan array and x a nonzero real number. Then $D[x]:=(d(xt),h(xt))=[d_{n,k}(x)]_{n,k\geq 0}$ defines the Riordan array with a variable x such that

(5)
$$d_{n,k}(x) = [t^n]d(xt)(th(xt))^k$$
$$= [t^{n-k}]d(xt)(h(xt))^k$$
$$= [t^n]d(t)(th(t))^k x^{n-k}.$$

For example,

(6)
$$P[x] := \left(\frac{1}{1-xt}, \frac{1}{1-xt}\right) = \begin{bmatrix} 1 & 0 & 0 & 0 \\ x & 1 & 0 & 0 \\ x^2 & 2x & 1 & 0 & \cdots \\ x^3 & 3x^2 & 3x & 1 & \cdots \\ & & & & & \cdots \end{bmatrix}.$$

Applying (2), we obtain

$$\left(\frac{1}{1-xt}, \frac{1}{1-xt}\right) * \left(\frac{1}{1-yt}, \frac{1}{1-yt}\right) = \left(\frac{1}{1-(x+y)t}, \frac{1}{1-(x+y)t}\right),$$

which immediately proves P[x]P[y] = P[x+y] (also see (4)).

To find generalized identities, we can apply the summation property (3) to the Riordan array with variable x.

Example 1. Let $D[x] = (\frac{1}{1-xt}, \frac{1}{1-xt})$ for any nonzero real number x. If we take $f(t) = (1+t)^n$ and $f(t) = \frac{1}{(1-t)t^n}$, it is easy to obtain the following identities respectively from (3):

(i)
$$\sum_{k=0}^{n} \binom{n}{k}^{2} x^{n-k} = \sum_{k=0}^{n} \binom{n}{k} \binom{n+k}{k} x^{k} (1-x)^{n-k},$$
(ii)
$$\sum_{k=0}^{n} \binom{n}{k} x^{n-k} = \sum_{k=0}^{2n} \binom{n}{k} \binom{n}{k} x^{k} (1-x)^{2n-k} = (1+x)^{2n-k}$$

(ii)
$$\sum_{k=0}^{n} \binom{n}{k} x^{n-k} = \sum_{k=0}^{2n} (-1)^k \binom{n}{k} x^k (1+x)^{2n-k} = (1+x)^n.$$

The identities including the Stirling numbers of both kinds together with the binomial coefficient very frequentely arise in enumerative combinatorics, for example see [2], [9], [8], [11]. Hence it is worthwhile to investigate such identities.

Theorem 2.1. Let g(t) be the generating function of a sequence $(g_k)_{k\geq 0}$. Then we have

(7)
$$\sum_{m=0}^{r} S(r,m)t^{m}g^{(m)}(t) = \sum_{k=0}^{\infty} k^{r}g_{k}t^{k}, r = 0, 1, 2, \dots$$

where S(r,m) is the Stirling number of the second kind and $g^{(m)}(t)$ is the m-th derivative of the function g(t) with respect to t.

Proof. We prove by induction on $r \ge 1$. Let $g(t) = \sum_{k=0}^{\infty} g_k t^k$. Since

$$tg'(t) = \sum_{k=0}^{\infty} kg_k t^k,$$

(7) holds for r = 1. Now assume that $r \ge 2$. From (1) and S(r, r) = S(r + 1, r + 1), we have:

$$\begin{split} t\frac{d}{dt} \sum_{m=0}^{r} S(r,m)t^{m}g^{(m)}(t) \\ &= t \sum_{m=0}^{r} [mS(r,m)t^{m-1}g^{(m)}(t) + S(r,m)t^{m}g^{(m+1)}(t)] \\ &= t [S(r,1)g'(t) + \sum_{m=2}^{r} mS(r,m)t^{m-1}g^{(m)}(t) + \sum_{m=1}^{r} S(r,m)t^{m}g^{(m+1)}(t)]] \\ &= tg'(t) + t \sum_{m=1}^{r-1} [S(r,m) + (m+1)S(r,m+1)]t^{m}g^{(m+1)}(t) + S(r,r)t^{r+1}g^{(r+1)}(t) \\ &= tg'(t) + \sum_{m=1}^{r-1} S(r+1,m+1)t^{m+1}g^{(m+1)}(t) + S(r+1,r+1)t^{r+1}g^{(r+1)}(t) \\ &= \sum_{m=0}^{r+1} S(r+1,m)t^{m}g^{(m)}(t), \end{split}$$

which completes the proof.

Note that Theorem 2.1 means that the function $f(t) = \sum_{m=0}^{r} S(r,m)t^{m}g^{(m)}(t)$ is the generating function of the sequence $(k^{r}g_{k})_{k\geq 0}$ with the weight k^{r} for each $r=0,1,\ldots$ Hence Theorem 2.1 and the summation property (3) allow us to find such new identities. Consequently we can get lots of identities for Stirling numbers whenever we take a suitable generating function g(t) in (7).

Theorem 2.2. Let x be a nonzero real number. For each r, m = 0, 1, ..., we have:

(i)
$$\sum_{k=0}^{n} \binom{n}{k} k^{r} x^{n-k} = \sum_{k=0}^{r} k! \binom{n}{k} S(r,k) (1+x)^{n-k},$$
(ii)
$$\sum_{k=0}^{n} \binom{n}{k} \binom{m}{k} x^{n-k} k^{r}$$

$$= \sum_{k=0}^{r} \sum_{k=0}^{n-k} k! S(r,k) \binom{m}{k} \binom{m+\ell}{m} \binom{m-k}{n-k-\ell} x^{\ell} (1-x)^{n-k-\ell}.$$

Proof. Let $D[x] = (\frac{1}{1-xt}, \frac{1}{1-xt})$ and let $f(t) = \sum_{k=0}^r S(r, k) t^k g^{(k)}(t)$.

(i) Take $g(t) = \frac{1}{1-t}$. Then we get $d_{n,k}(x) = \binom{n}{k} x^{n-k}$ and $g_k = 1$. Hence $f_k = k^r$ where $r = 0, 1, \ldots$ Applying the summation property (3), we have:

$$\sum_{k=0}^{n} \binom{n}{k} k^{r} x^{n-k} = [t^{n}] \frac{1}{1-xt} \sum_{k=0}^{r} S(r,k) \left(\frac{t}{1-xt}\right)^{k} \frac{k!}{\left(\frac{1-xt-t}{1-xt}\right)^{k+1}}$$

$$= \sum_{k=0}^{r} k! S(r,k) [t^{n}] \left(\frac{t^{k}}{(1-(1+x)t)^{k+1}}\right)$$

$$= \sum_{k=0}^{r} k! \binom{n}{k} S(r,k) (1+x)^{n-k},$$

which proves (i).

(ii) Take $g(t) = (1+t)^m$ for m = 0, 1, ... Then we get $d_{n,k}(x) = \binom{n}{k} x^{n-k}$ and $g_k = \binom{m}{k}$. Hence $f_k = k^r \binom{m}{k}$ where r = 0, 1, ... Applying the summation property (3), we have:

$$\sum_{k=0}^{n} \binom{n}{k} \binom{m}{k} x^{n-k} k^{r} = [t^{n}] \frac{1}{1-xt} \sum_{k=0}^{r} S(r,k) \left(\frac{t}{1-xt}\right)^{k} k! \binom{m}{k} \left(1 + \frac{t}{1-xt}\right)^{m-k}$$

$$= \sum_{k=0}^{r} k! S(r,k) \binom{m}{k} [t^{n-k}] \frac{1}{(1-xt)^{m+1}} (1 + (1-x)t)^{m-k}$$

$$= \sum_{k=0}^{r} k! S(r,k) \binom{m}{k} \sum_{\ell=0}^{n-k} [t^{\ell}] \frac{1}{(1-xt)^{m+1}} [t^{n-k-\ell}]$$

$$\times (1 + (1-x)t)^{m-k}$$

$$= \sum_{k=0}^{r} \sum_{\ell=0}^{n-k} k! S(r,k) \binom{m}{k} \binom{m+\ell}{m} \binom{m-k}{n-k-\ell} x^{\ell} (1-x)^{n-k-\ell},$$

which proves (ii).

316

From (i) and (ii) in the above theorem, we can establish lots of interesting identities involving Stirling numbers for the specific number x. Also, some well known identities are immediately reduced from it.

Corollary 2.3. Let x be a nonzero real number. For each r, m = 0, 1, ..., we have:

(i)
$$\sum_{k=0}^{n} \binom{n}{k} k^{r} = \sum_{k=0}^{n} k! \binom{n}{k} S(r,k) 2^{n-k} = \sum_{k=0}^{n} (n-k)! \binom{n}{k} S(r,n-k) 2^{k},$$

$$(x = 1 in (i));$$

(ii)
$$S(r,n) = \frac{1}{n!} \sum_{k=0}^{n} (-1)^{n-k} \binom{n}{k} k^r$$
, $(x = -1 \text{ in } (i))$;

(iii)
$$\sum_{k=0}^{n} \binom{n}{k} \binom{m}{k} x^{n-k} = \sum_{k=0}^{n} \binom{m+k}{k} \binom{m}{n-k} x^{k} (1-x)^{n-k}$$
$$= \sum_{k=0}^{n} \binom{n}{k} \binom{m+k}{n} x^{k} (1-x)^{n-k}, (r=0 in (ii));$$

(iv)
$$\sum_{k=0}^{n} {n \choose k} {m \choose k} = {m+n \choose n}$$
, $((x,r) = (1,0) \ in \ (ii))$;

(v)
$$\sum_{k=0}^{n} k \binom{n}{k} \binom{m}{k} = n \binom{m+n-1}{n}, ((x,r) = (1,1) in (ii));$$

(vi)
$$\sum_{k=0}^{n} k^2 \binom{n}{k} \binom{m}{k} = nm \binom{m+n-2}{n-1}$$
, $((x,r)=(1,2) \ in \ (ii))$.

Note that (ii) is a third proof for Theorem 8.4, p. 289 in [2] and (iv) is the well-known Vandermonde convolution.

3. Further Identities

In this section, we establish some identities related to the Stirling numbers s(n, k) of the first kind by the summation property of the Riordan concept.

(1) Let $D = (\frac{1}{1-t}, \frac{1}{1-t})$ and $f(t) = (1+t)(1+2t)\dots(1+mt)$. In this case we obtain: $d_{n,k} = \binom{n}{k}$ and $f_k = (-1)^k s(m+1, m+1-k)$. Therefore using Theorem 2.1. we get

$$\sum_{k=0}^{n} (-1)^{k} \binom{n}{k} s(m+1, m+1-k) = \sum_{k=0}^{n} (-1)^{k} \binom{m+n-k}{m} s(m, m-k).$$

(2) Let $D = (\frac{-1}{1-t}, \frac{-1}{1-t})$ and $f(t) = (1+t)(1+2t)\dots(1+mt)$. In this case we get $d_{n,k} = (-1)^k \binom{n}{k}$ and $f_k = (-1)^k s(m+1, m+1-k)$. Consequently applying

Theorem 2.1 gives

$$\sum_{k=0}^{n} \binom{n}{k} s(m+1, m+1-k) = \sum_{k=0}^{n} \binom{m+n-k+1}{n-k} s(m+2, m+2-k).$$

In particular, if m = n - 1, then we have the identity:

$$\sum_{k=0}^{n} \binom{n}{k} s(n,k) = \sum_{k=0}^{n} \binom{n+k}{k} s(n+1,k+1) = \sum_{k=0}^{n} \binom{n}{k} s(n,n-k)$$

(3) Let $D = (\frac{-1}{1-t}, \frac{-1}{1-t})$ and $f(t) = \frac{t^m}{(1-t)(1-2t)...(1-mt)}$. In this case we obtain $d_{n,k} = (-1)^k \binom{n}{k}$ and $f_k = S(k,m), k = 0, 1, 2, \ldots$ Thus using Theorem 2.1, we get

$$\sum_{k=m}^{n} (-1)^{k} \binom{n}{k} S(k,m) = \sum_{k=m}^{n} (-1)^{k} S(k-1,m-1), \ m \ge 1.$$

Substituting m = 1 it yields the well-known identity

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} = 0.$$

4. Conclusion

Although the connection between Stirling numbers and Riordan arrays is not immediate, this paper establishes new identities involving Stirling numbers of both kinds via Riordan arrays with a variable. Some well-known identities are obtained as special cases of the variable of the new identities.

References

- 1. G. S. Call & D. J. Velleman: Pascal's matrices. *Amer. Math. Monthly* **100** (1993), 372-376.
- 2. C. A. Charalambides: Enumerative Combinatorics. Chapman Hall CRC(2002).
- 3. G.-S. Cheon & J.-S. Kim: Stirling Matrix via Pascal matrix. *Linear Algebra and its Applications* **329** (2001), 49-59.
- G.-S. Cheon, J.-S. Kim & Haeng-Won Yoon: A note on Pascal's matrix. J. Korea Soc. Math. Educ. Ser B: Pure Appl. Math. 6 (1999), 121–127.
- 5. M. E. El-Mikkawy: On a connection between the Pascal, Vandermonde and Stirling Matrices-1. Applied Mathematics and Computation 145 (2003), 23-32.
- M. E. El-Mikkawy: On a connection between the Pascal, Vandermonde and Stirling Matrices-2. Applied Mathematics and Computation 146 (2003), 759-769.

- 7. L. W. Shapiro, S. Getu, W.-J. Woan & Woodson: The Riordan group. Discrete Appl. Math. 34 (1991), 229-239.
- 8. R. Sprugnoli: Riordan arrays and combinatorial sums. *Discrete Math.* **132** (1994), 267–290.
- 9. J. H. Van Lint & R. M. Wilson: A course in Combinatorics. Cambridge University Press, (1992).
- 10. Zhang Zhizheng: The linear algebra of the generalized Pascal matrix. *Linear Algebra* and its Applications 250 (1997), 51-60.
- 11. X. Zhao, S. Ding & T. Wang: Some summation rules related to Riordan arrays. *Discrete Mathematics* **281** (2004), 295–307.
- *Department of Mathematics, Sungkyunkwan University, Suwon 440-746, Republic of Korea

Email address: gscheon@skku.edu

**Moawwad E. A. El-Mikkawy, Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, EGYPT

Email address: mikkawy@yahoo.com

***Department of Mathematics, Daejin University, Pocheon 487-711, Republic of Korea

Email address: hgseol@skku.edu